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pg. 735
# 4, #5, #8(a,b), #11(a,b), #12(a,b,c,d,e,f)
Homework
7a) (April) - (January) . Solutions
Cal:  (+13)-(-4) i)lqualuit:  (-10)-(-22) 1O  (+12)-(-3)
(+13) + (+4) (-10) + (+22) (+12) + (+3)
+17 +12 +15

iv)Vic:  (#13) - (+7)
b) Calgary has the greatest change

(+13) + (-7) since it has the largest difference
+6

8b) (+11)-(-6)
(+11) + (+6)

8a) (-6) - (+11)

(-6) + (-11)
=17 =+17
12)a) (+4)-(+2)- (+1) [ 12)b) (2)- (-4 | 120) (1)- (42) - (+1)
(+4) + (-2) + (1) (-2) + (-1) + (+4) = (1) + (2) + (1)
2+ (1) -3+ (+4) = (:3) (1)
= +1 = +1 = -4
12d) (+5) - (+1) +(-2) 12e) (+10) - (+3) - (-5) 12f) (-7) - (+1) + (-3)
) ()s ) = (#1005 (3) 4 (5) = (7) + (1) + (:3)
= (+4) + (+2) = (+7) (+5) = (-8) +(-3)
= +12 = +11

= +6
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Q. (=)= ]
-6y +CD =717

(1) - (k)
) F L) =TT
The orcroers owe ofp 2s) e n\'rkcse’f-
A M ¢ o difference oF 2 Mges
(+&) - W\ —-D)

(-N=(=5) (O)=-(
C-IDN=C-N (- 10) =14

103 (#¢) -(+5) =4/

(+s\—H5)Y=0

(+4\ =45\ =-|
%) - s =2
42) - (G5) =3

BY 4N -Gy = +3
(‘F’\ —( 4’3\ = i
N — ) =+5
G = ) =46

N0y =*7
(FND —(-1\ =+¥
G- () =19
L — (= 2\ =+10
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”-6\\ o, ""2\ "'2\ -_(0_)'/()3 ‘lﬂ) R
SL,..‘:.'bf‘ooE '“'\'\
b -3, "KH,*—J», +§,+7)*_‘1.
odd Y2 eoch BEwme
C) +5, 412, ¥4 2 433 Hiy +f7
2dd Tl coch Evme. !
o2 Bt s
cukbrpet |
. W - =) =+
LY 2= W) - (-4
(-2 DN F L) =+
) (=) L(=2)—(+1)
CVNH2) FH )y =
N HeY— ) +-2) =42
e) H/oy—-42) - (-5)
F)+Es) =+

Y (-D-(H) +-3)
=D FENY ==

Homework Sheet 4.3 # 1-25
Sheet 4.4 # 1-34

Sheet 4.5 #1-16
(Even numbers only)
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Day 2 of Review Test Tuesday, Sept. 28
Quiz first then work on

Class 600 000000
pg. 79 EEEEEN 20
Ve, Tyws T ENRE =029
#2(a,b,c,d,e),

#3(a,b,c,d), Use Tiles or Write out ( )+( )=
#4(a,b,c,d), Write out ( )+ )=__

#60, Write out ( )+()=__ o

#7(a,b),

#8(a,b,c,d) USE TILES

Write out ( )+( )=
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